T =top edge, C = center, B = bottom edge; fn = footnote
x = default test channel, o = other channel depending on power or SAR
Revised table for Rev 5 LTE SAR Report

band 4 band 4 band 7 band 7 941225
20 MHz 10 MHz 20 MHz 10 MHz
Low Mid High Low Mid High Low Mid High Low Mid High
1720 17325 1745 1715 17325 1750 2510 2535 2560 2505 2535 2565
gpsk|P, 1RB, B 21.85 22.44 22.33 22.13 22.47 22.26 21.45 21.57 21.16 21.51 21.63 21.80
apsk|P, 1RB, T 22.54 22.08 22.34 22.45 2255 22.36 22.12 21.77 21.48 21.71 21.83 21.65
gpsk|P, 50%RB, C 21.49 21.55 21.43 21.20 21.43 21.16 20.94 20.76 20.67 20.46 20.76 20.57
apsk|P, 100%RB, C 21.37 21.39 21.36 21.13 21.40 21.09 20.66 20.83 20.50 20.54 20.75 20.69
Pos|freq 1720 17325 1745 1715 1732.5 1750 2510 2535 2560 2505 2535 2565
1|QPSK, 50%RB, C 1.17 1.07 1.09 1.16 1.36 1.09 3)A)
1{QPskK, 100%RB, C 3)A) I)
1|QPSK, 1RB, T 1.2 1.43 3) B)
1{QPsk, 1RB, B 1.19 1.41 3)B)
1[16QAM, 50%RB, C 0.957 1.05 4) A)
1{16QAM, 100%RB, C 4) A) 1) b)
1[16QAM, 1RB, T 0.988 1.4 4) B)
1{16QAM, 1RB, B 1.37 1.39 4) B)
2|QPSK, 50%RB, C 0.608 0.39 3) A)
2|QPSK, 100%RB, C 3)A) )
2|QPSK, 1RB, T 0.585 0.412 3)B)
2|QPSK, 1RB, B 0.752 0.539 3)B)
2|16QAM, 50%RB, C 0.364 0.358 4) A)
2|16QAM, 100%RB, C 4) A) 1) b)
2|16QAM, 1RB, T 0.568 0.454 4) B)
2(16QAM, 1RB, B 0.645 0.449 4) B)
3|QPSK, 50%RB, C 0.082 0.122 3) A)
3|QPSK, 100%RB, C 3)A)I)
3|QPSK, 1RB, T 0.119 0.098 3)B)
3|QPSK, 1RB, B 0.110 0.125 3)B)
3|16QAM, 50%RB, C 0.070 0.078 4) A)
3|16QAM, 100%RB, C 4) A) 1) b)
3[16QAM, 1RB, T 0.100 0.120 4) B)
3|16QAM, 1RB, B 0.104 0.103 4) B)




band 4 band 4 band 7 band 7 941225
20 MHz 10 MHz 20 MHz 10 MHz

qpsk|P, 1RB, B 21.85 22.44 22.33 22.13 22.47 22.26 21.45 21.57 21.16 21.51 21.63 21.80

qpsk|P, 1RB, T 22.54 22.08 22.34 22.45 22.55 22.36 22.12 21.77 21.48 21.71 21.83 21.65

qpsk|P, 50%RB, C 21.49 21.55 21.43 21.20 21.43 21.16 20.94 20.76 20.67 20.46 20.76 20.57

qpsk|P, 100%RB, C 21.37 21.39 21.36 21.13 21.40 21.09 20.66 20.83 20.50 20.54 20.75 20.69

Posl|freq 1720.0 17325 1745.0 1715.0 1732.5 1750.0 2510.0 2535.0 2560.0 2505.0 2535.0 2565.0
4|QPSK, 50%RB, C 0.441 0.562 3) A)
4|QPSK, 100%RB, C 3)A) )
4|QPSK, 1RB, T 0.735 0.578 3) B)
4|QPSK, 1RB, B 0.637 0.650 3) B)
4|16QAM, 50%RB, C 0.381 0.428 4) A)
4{16QAM, 100%RB, C 4)A) 1) b)
4|16QAM, 1RB, T 0.522 0.503 4) B)
4|16QAM, 1RB, B 0.705 0.556 4) B)
5|QPSK, 50%RB, C 0.602 0.328 3) A)
5|QPSK, 100%RB, C 3)A)N)
5|QPSK, 1RB, T 0.867 0.241 3) B)
5|QPSK, 1RB, B 0.803 0.372 3) B)
5|16QAM, 50%RB, C 0.479 0.245 4) A)
5/16QAM, 100%RB, C 4)A) 1) b)
5|16QAM, 1RB, T 0.574 0.314 4) B)
5|16QAM, 1RB, B 0.995 0.303 4) B)




